
����� 4  

 

��	
��
������	
���
��
��� 

 

��������	
 
 

��������	��
��

���������������������� (descriptive research) �!"#$%&�'�	��(��"#$)*��
+,-.�!/
#(
$�/0�!123$!42����(�5$�������6�1*(7�89*+9�$��,:�		��()��:16�2+9� ;)*<�3  ���
����9*:$��+�+
#��23$���6�1*( �������9*	��(�,�<��-$����6�1*( �������9*��=:���>-$�
!42����(�5$�������6�1*( �������9*$,�+��	23$!42����(�5$�������6�1*( <1=�������9*
	��(+�(��?-$�2��$�23$!42����(�5$�������6�1*( �1,3(2��$�3������89*+9�$��,/
#;)*�����������@��
���<!/�>�3�����:�		��()��:16�2+9�/
#(����������2���/
#<8��89*�A���$�:��!����1(6����
�	�%�
0��(���  <1=:��!����1+�-1�   	�)�1"$��1,3(2��$�3��<���@!�=���=�� (purposive 
sampling) �H���� 240 ��� ��L�-*$(917��3���)"$�0����	(  !.%. 2549 P �)"$�(���	( !.%. 2550 
81������	��=6>-*$(91�H��+�$)*�������������=�$�2����2�(1H�)��)���

 

1. -*$(91/�#�;�-$��1,3(2��$�3�� 
2. �������9*2�(	��(��"#$)*��+,-.�! 
3. !42����(�5$�������6�1*(7�89*+9�$��,:�		��()��:16�2+9� 
4. 	��(+�(!��0>�=6�3���������9*2�(	��(��"#$)*��+,-.�!���!42����(�5$�������6�1*( 
5. �S����/
#(
$�/0�!123$!42����(�5$�������6�1*( 

 
 �
�����	�������������	��
��� 
 81���%&�'�!��3�  �1,3(2��$�3��/
#%&�'�+3��76T3�����!%6T�� (�*$�1= 73.75)  (
�3��$��,
�=6�3�� 60 P 90 �W $��,�@1
#� 71  �W (SD = 6.75)  +?��.�!+(�+	93	�)�����*$�1= 57.10 ��
���%&�'��=)����=?(%&�'� (�*$�1= 60.80) +3��76T3;(3;)*��=�$�$��
! (�*$�1= 64.60) ���;)*
$�937��3�� 1,001P5,000 ��/ �@1
#� 7,862 ��/23$�)"$� �=�=��1��������:�		��()��:16�2+9�$�93
7��3��  1 -  45 �W �@1
#� 7 �W (SD =  6.13) �1,3(2��$�3��/,�	�(
���	��	,(:�		��()��:16�2+9�:)�
���7�*�� ���)-$������'�	��()��:16�2+9�/
#�����=/��(��/
#+,) 	"$ �1,3(-$���-���S++��= 
;)*<�3 ��;^:)�	1$;�;0$=;_)> (hydrochlorothiazide: HCTZ) <1=��1�_�� (lasix)   	�)���� 
(�*$�1= 83.30)  �1,3(2��$�3��+3��76T3;(3�	�6�1*(7��=�= 1 �W/
#83��(� (�*$�1= 68.30) (2���� 1) 



 
2���� 1 
������ �
�
�� ��������
  ��!����"��
��"�����#�����������	��
������ ������
�����	���� 
 ( N = 240) 
 

1��'h=-$��1,3(2��$�3�� �H���� �*$�1= 
�!% 
     6T�� 
     ��� 
$��, (�W)  (Χ   = 71,  SD =  6.75, Min-Max = 60 - 90)   
     60 P 69   
     70 P 79   

     ≥80 �W  
+?��.�!+(�+ 
      :+) 
      	93 
      6(*��/6�3�/<�����$�93 
�=)�����%&�'� 
      ;(3;)*������%&�'� 
      ��=?(%&�'� 
      (�0�(%&�'� 
      $�,���TT� 
      ���TT�2�
-&
�;� 

 
177 
 63 
 

102 
100 
  38 

 
   7 
137 
 96 
 

  42 
146 
  21 
  16 
  15 

 
73.75 
26.25 

 
42.50 
41.70 
15.80 

 
  2.90 
57.10 
40.00 

 
17.50 
60.80 
  8.80 
  6.70 
  6.30 

 
 
 
 
 
 
 



2���� 1 (23$) 
������ �
�
�� ��������
  ��!����"��
��"�����#�����������	��
������ ������
�����	���� 
 ( N = 240) 
 

1��'h=-$��1,3(2��$�3�� �H���� �*$�1= 
$��
!7��S��,���  
   ;(3;)*��=�$�$��
! 
   ��=�$�$��
!     

-*��������H���T 

��'2����( 
	*�-�� 

       ����*�� 

 
155 
  85 
  35 
  30 
  13 
   7 

 
64.60 
35.40 
14.60 
12.50 
  5.40 
  2.90 

���;)*-$�89*+9�$��,�@1
#�23$�)"$� (��/)  (Χ = 7862.57, SD  = 7390.37, Min-Max = 500 - 
35,000) 

≤ 1,000 
1,001 P 5,000 
5,001 P 10,000 
10,000 P 15,000 

       ≥ 15,001 

  9 
36 
  9 
 19 
12 

3.80 
15.00 
  3.80 
  7.90 
  5.90 

�=�=��1��������:�		��()��:16�2+9� (�W)  (Χ = 7.00, SD  =  6.13, Min-Max = 1 P 45) 
(
���7�*��7��S��,���  
���)-$���*  
       �1,3( 1 ;)*<�3   hydrochlorothiazide (HCTZ) , lasix 

�1,3( 2 ;)*<�3   enalapril, captopril 
�1,3( 3 ;)*<�3   propranolol 
�1,3( 4 ;)*<�3   adalat, verapamil 

       �1,3( 5 ;)*<�3   sodium nitroprusside, hydralazine 

240 
 

200 
  92 
  40 
   15 
  10 

 100.00  
 

83.30 
38.30 
16.70 
  6.30 
  4.20 

���6�1*(/
#83��(�7��3�� 1 �W (Χ  = 1.47, SD =  .74 ,  Min-Max = 1 - 4)  
       ;(3(
   
        (
 

 164 
   76 

68.30 
 31.70 



* 2$�;)*(����3� 1 ���)  
 +H�6����S�����+
#��/
#/H�76*���)���6�1*(!��3��S�����+
#��.��7� 3 $��)��<��/
#/H�76*���)

���6�1*((��/
#+,) 	"$ ���(
�1*�(��"
$$3$�<��6�"$(
$�����6�"#$�1*����)-&
� (�*$�1= 67.50)   ���
(
:�	��=�H�2��$"#��$����.��=	��()��:16�2+9� (�*$�1= 65.40)  <1=���(
$����6�*�(")��
��%
�'= 
��1���1
#��/3� (�*$�1= 64.60)  +3���S�����+
#��.���$�/
#/H�76*���)���6�1*( 3 $��)��<�� 	"$ 
�����h���;)6�"$.��7�6*$��
H�;(3(
����&)���= (�*$�1= 53.80)  !"
��*��(
�=)��;(3�/3���� +9�l 
2#H�l (�*$�1= 46.30)  <1=!"
�8��/
#�*��(
1��'h=1"#�<1=����(����� (�*$�1= 38.30) (2���� 2) 

 
2���� 2 
������   ���
�
���+��	
�!��
����������,-
���.���-��
����������	��
�����
�
�   (N = 240) 
 

�S�����+
#��/
#/H�76*���)���6�1*(7� 1 �)"$�/
#83��(� �H���� �*$�1= 
 �+��	
�!��
�/�
,�* 
     (
$����6�*�(") ��
��%
�'= ��1���1
#��/3�            
     (
$����61�1"( �H�;(3	3$�;)*         
  (
$���������
��%
�'=/�9*+&��3��*��6(,�        
  (
$�����������h�1��("$�1���/*�         
  �9*+&��3��1*�(��"
$$3$�<��6�"$(
$�����6�"#$�1*����)-&
�     
  �)��1H����<1=(
���/��2��/
#;(3)
         
  (
:�	��=�H�2��$"#��$����.��=	��()��:16�2+9�      
  7�*��(���3� 4 ���) -&
�;�  

�+��	
�!��
�/�
���*                
     .��7��*��(
<+�+�3��;(3�!
��!$         
     !"
�8��/
#�*��(
1��'h=1"#�<1=����(�����  
     .��7��*��(
+�#��
)-���/���)�� 
 !"
��*��(
�=)�� ;(3�/3���� +9�l2#H�l    
 �����h���;)6�"$.��7�6*$��
H�;(3(
����&)���=  
     .��7�6*$��
H����-$�7�*��=�= 

 

155 
150 
114 
140 
162 
106 
157 
  83 

 
 23 
 92 
 49 

     111 
     129 
       20 

 

64.60 
62.50 
47.50 
58.30 
67.50 
44.20 
65.40 
34.60 

 
  9.60 
38.30 
20.40 
46.30 
53.80 

       8.30 

* 2$�;)*(����3� 1 �S���� 
 



 
����	"��
��������12��.
��!��/�3 

 81���%&�'�!��3��1,3(2��$�3��(
�������9*2�(	��(��"#$)*��+,-.�!:)���(�@1
#�$�937�
�=)��+9� ( Χ = 2.55, SD =.14) :)�(
�������9*���)*��+3��76T3$�937��=)��+9� ����*��������9*
$,�+��	23$!42����(�5$�������6�1*($�937��=)��2#H� (Χ = 1.30, SD = .32) <1= 	=<���@1
#�-$�
�������9*��=:���>23$!42����(�5$�������6�1*($�937��=)��+9�+,) (Χ = 2.92, SD =.15) (2���� 3) 
 
2���� 3 
��������
  !����"��
��"�����#��   ����.	"�������	"��
��������12��.
��!��/�3���������	��
���
�	4���
.
��  ��5.
��� (N=240)  
 

2��<�� Min-Max 
Χ  SD �=)�� 

�������9*-$��,		1     

      �������9*:$��+�+
#��23$���6�1*( 1-3 2.76 .35 +9� 
      �������9*	��(�,�<��-$�������6�1*( 1-3 2.92 .28 +9� 
	��(����;�;)*-$�����m���2�!42����(     

      �������9*��=:���>-$�����m���2� 1-3 2.92 .15 +9� 
      �������9*$,�+��	-$�����m���2� 1-3 1.30 .32 2#H� 
      �������9*	��(+�(��?-$�2��$�7�����m���2� 1-3 2.87 .16 +9� 
:)���( 1-3    2.55     .14 +9� 
  

    36�������7���	����-��
�,���
!����
�5������.	�5�-��!�� 
    81���%&�'�!��3��=)��!42����(�5$�������6�1*(7�89*+9�$��,:�		��()��:16�2+9�
:)���($�937��=)��+9� (Χ = 2.61, SD = .20) �("#$�H�<�����)*��!��3����1)�S�����+
#��.��7� 
<1= ���1)�S�����+
#��.���$�$�937��=)��+9� ( Χ = 2.56, SD = .24 <1= Χ  = 2.66, SD = .28 
2�(1H�)��) <1=�("#$�H�<�����-*$!��3��=)�����1)�S�����+
#��.��7�$�937��=)��+9�6() ����*�
���7�*;(*�/*�6�"$;(*	
H�����!"#$�3��76*���/��2��)
-&
�$�937��=)��2#H� ( Χ =1.41, SD = .74) ���1)
�S�����+
#��.���$�$�937��=)��+9�6() ����*����2�)���+H�6������=�&)!�,���������h���;)/7�
6*$��
H�$�937��=)������1�� (Χ =1.88, SD = .97) (2���� 4) 
 



 
����� 4    
��������
  !����"��
��"�����#��  ����.	"36�������7���	����-��
����������	��
���5.
��� 
��
.
��  ����
�
�  (N=240) 
 

!42����(�5$�������6�1*( Min-
Max 

Χ  S.D �=)��
!42����( 

���1)�S�����+
#��.��7� 1-3 2.56 .24 +9� 
1. ���;�!�<!/�>�!"#$2���2�)2�(���'�.��=	��()��

:16�2+9�2�(��) 
      2. ���$$��H�1������!"#$no����/��2�� ��3�  �2*�<$:���	 

�H�;/��L�  �H�;(*!1$� �)����L�l ��#��6��=l 
      3. �����1
#��/3�/��/3�����$� ������#� 6�"$�����#� 

�����"� $�3���*�l 
      4. ���7�*;(*�/*�6�"$;(*	
H�����!"#$�3��76*���/��2��)
-&
� 

   5. ���;�!�<!/�>�("#$(
	��(8�)��2�������7�*�� ��3� 
6�*�(") ��
��%
�'= �!"#$�������7�*��/
#�6(�=+( 

      6. ��������=/����2�(/
#<!/�>+�#� <1=;(3(
!42����(  
          ���6�,)���$� 

1-3 
 

1-3 
 

1-3 
 

1-3 
1-3 

 
1-3 

 

2.98 
 

2.51 
 

2.82 
 

1.41 
2.65 

 
2.96 

.11 
 

.64 
 

.48 
 

.74 

.67 
 

.23 

+9� 
 

+9� 
 

+9� 
 

2#H� 
+9� 
 

+9� 

���1)�S�����+
#��.���$� 1-3 2.66 .28 +9� 
     7. �����)76*(
<+�+�3��$�3���!
��!$.��7��*�� 

:)��@!�=�����h/���)��   ���;)  <1=7�6*$��
H� 
     8. ���)9<1+.�!!"
��*��;(376*��W�� 6�"$  1"#� 
     9. �����)�	�"#$�7�*7��*��76*�����=��
��;(3�����=�=/���)�� 
    10. ���/H��	�"#$�6(��<+)�76*�6L������h!"
��*��/
#(


	��(23���=)��$�3����)���   
    11. ���;)*2�)���+H�6������=�&) !�,���� �����h���;)/

7�6*$��
H� 
    12. �����)���-$�7�*.��7�6*$��
H�$�3�������=��
��  
          ��
���*$� ;(3�
)-�������*���)�� 

1-3 
 

1-3 
1-3 
1-3 

 
1-3 

 
1-3 

 

2.97 
 

2.93 
2.92 
2.37 

 
1.88 

 
2.93 

.18 
 

.27 

.30 

.86 
 

.97 
 

.28 

+9� 
 

+9� 
+9� 
+9� 
 

����1�� 
 

+9� 



:)���( 1-3 2.61 .20 +9� 
����!	�3	�89��-��������	"��
��������12��.
��!��/�3�	"36�������7���	����-��
� 

  81������	��=6>	3�+�(��=+�/0�p+6+�(!��0>-$��!
��>+���=6�3���������9*2�(	��(��"#$)*��
+,-.�!���!42����(�5$�������6�1*(7�89*+9�$��,:�		��()��:16�2+9� !��3��������9*:$��+�+
#��
23$���6�1*( �������9*	��(�,�<��23$���6�1*( �������9*��=:���>-$�!42����(�5$�������6�1*( 
<1=�������9*	��(+�(��?-$�2��$�23$!42����(�5$�������6�1*((
	��(+�(!��0>/�����7��=)��
2#H�?&�����1�����!42����(�5$�������6�1*( (2���� 5) +3���������9*$,�+��	23$!42����( �5$����
���6�1*((
	��(+�(!��0>/��1�7��=)������1�����!42����(�5$�������6�1*( (r =-. 33, p < .01) 
�("#$!����h�	��(+�(!��0>�=6�3��2��<��$�+�=)*������$�/
#�1"$�(�%&�'�	��
��

!��3�;(3(
2��<��7)(

	3�+�(��=+�/0�p +6+�(!��0>������hr>/
#�H�6�) 	"$ .65 (Burn & Grove, 1993  $*��2�( �!���*$�, 2548)  
  $�3��;��L2�(89*�����;)*/H����/)+$�	��(����$�+�=-$�2��<��)���13��7����/H����	3�
	��(<������-$�!42����(�5$�������6�1*( (multicolinearity test) !��3�2��<��/,�2������
$�+�=23$��� (;)*	3� tolerance <1=	3� variance inflation factor -$�!42����(�5$�������6�1*(
�/3���� .88, .89, .87, .80, .87 <1= 1.14, 1.11, 1.15, 1.26 <1= 1.15 2�(1H�)��) �$�����

�("#$
/)+$�	3�	��(	1�)�	1"#$�/
#(
	��(+�(!��0>����$� (autocorrelation) 7�+(���?)?$�!6,	9h
<��-�
�2$�:)�)9	3�)9��� ��2+�� (Durbin-Watson) ;)*�/3���� 1.84 _&#�$�937��3����2� 	"$ 1.5 P 2.5 
(�!���*$�, 2548)  �����
��&��H�2��<��/,�2��;����	��=6>7�+(���/H����!42����(�5$�������6�1*( 
 
����� 5   
���!	����!��8�;!-!	�3	�89����3�
�9!	���-��������	"��
��������12��.
��!��/�3�	"36������
�7���	����-��
�,���
!����
�5������.	�5�-��!��   (N = 240) 
 

2��<�� 1 2 3 4 5 6 
1. �������9*:$��+�+
#�� 1.00      
2. �������9*	��(�,�<�� .48** 1.00     
3. �������9*��=:���> .56** .48** 1.00    
4. �������9*$,�+��	 -.17** -.13** -.32** 1.00   
5. �������9*	��(+�(��?-$�2��$� .35** .18** .36** -.45** 1.00  
6. !42����(�5$�������6�1*( .17* .18** .31** -.33** .53** 1.00 
** p < .01  , * p < .05 



 
     �+��	
��������8�3����36�������7���	����-��
� 
 81������	��=6>�S����/
#�3�(/H����!42����(�5$�������6�1*(7�89*+9�$��,:�		��()��
:16�2+9� !��3��������9*	��(+�(��?-$�2��$�23$!42����(�5$�������6�1*( <1=�������9*
��=:���>-$�!42����(�5$�������6�1*(+�(��?�3�(���/H����	��(<������-$�!42����( 
�5$�������6�1*(7�89*+9�$��,:�		��()��:16�2+9��*$�1= 30 (R2    = .30, p < .05) :)�/
#�������9*
	��(+�(��?-$�2��$�+�(��?/H����!42����(�5$�������6�1*(;)*(��/
#+,)�*$�1= 28 (R2 
Change = .28, p < .001) (2����  6)   +3���������9*:$��+�+
#��23$���6�1*(    �������9*	��(�,�<��
-$����6�1*(     �������9*$,�+��	23$!42����(�5$�������6�1*(;(3+�(��?�3�(/H����!42����(
�5$�������6�1*(7�89*+9�$��,:�		��()��:16�2+9�;)*  
 
2���� 6 
���!	����!��8�;��������
36�������7���	����-��
�,���
!����
�5������.	�5�-��!��   
 (N=240) 
 

2��<��/
#%&�'� R R2 R2 
change 

b Beta t 

�������9*	��(+�(��?-$�2��$� 
�������9*��=:���> 

.53 

.54 
.28 
.30 

.28 

.02 
.62 
.18 

.48 

.13 
   8.26 *** 
   2.28* 

** *p < .001, * p < .05   Constant = .31 
 
����/����
�� 
 
   �
�����	�������������	��
��� 
              ���%&�'�	��
��

!��3�  �1,3(2��$�3��+3��76T3�����!%6T�� (�*$�1= 73.75)  (
�3��$��,
�=6�3�� 60 P 69 �W (��/
#+,) (�*$�1= 42.50)  _&#�+$)	1*$�2�(:	��+�*��$��,<1=�!%-$�
��=����+9�$��,;/� /
#!��3���=����+9�$��,+3��76T3$�937��3��$��, 60-70 �W <1=�����!%6T��
(����3��!%��� (���:(/�> <1= �S/(�, 2547) <1=+$)	1*$�������%&�'�-$��!LT%�
 <1=	h= 
(2543) !��3��1,3(2��$�3��+3��76T3����89*+9�$��,2$�2*� �*$�1= 59.2 �����!%6T��(����3��!%��� 
	�)����+�)+3�� 4 : 1  �1,3(2��$�3��(
+?��.�!+(�+	93(��/
#+,) (�*$�1= 57.10) ��"#$����+3��76T3



$�937����+9�$��,2$�2*�/H�76*������;�-$�	93+(�+(
�*$� +3��76T3���<-L�<��)
/�
�	93 �����%&�'�
�=)����=?(%&�'� (�*$�1= 60.80) �=�6L��3�+3��76T3(
���%&�'��*$� ��"#$�����3�����2*�-$��
��2
$�937��=�=/
#��=�/%(
���!�z��)*���%�'{���+��	(;(3)
��� �=�����%&�'����(
�����=���;�;(3
/�#�?&�/,�/*$�/
# (���1,, 2544) �1,3(2��$�3��+3��76T3�&�;)*��
��<	3��
���=?(%&�'� <1=(
���+3��
/
#;(3;)*������%&�'� (�*$�1= 17.50)   (
	��(�9*!$$3��$$��-
��;)*  +3��76T3;(3;)*��=�$�$��
! 
(�*$�1= 64.60) ��"#$����19�61���6L��3�(
:�	��=�H�2��	��(<-L�<��-$��3�����1)1� �&�76*
/H�����1L�l �*$�l $�93����*�� ���;)*+3��76T3�&�(�����,2�61�� :)�89*+9�$��,+3��76T3	�)�3�
�!
��!$23$���)H����
! 
 �1,3(2��$�3������:�		��()��:16�2+9�$�937��3��  1 - 45 �W �@1
#� 7  �W /,�	�(
���	��	,(
:�		��()��:16�2+9�:)����7�*�� (�*$�1= 100)  ��"#$������+�(��?1)	��()��:16�2<1=
	��	,(	��()��7�61$)�1"$)<)� �$�����

����3���5$����.��=</��_*$����:�	61$)�1"$)
6��7�;)* (+(��2 <1= $�+�, 2542) ���)-$������'�	��()��:16�2+9�/
#�1,3(2��$�3�������=/��
(��/
#+,)	"$ �1,3(��-���S++��=:)��@!�=��;^:)�	1$;�;0$=;_)> (HCTZ) (�*$�1= 83.30)  ����
�1,3(��/
#7�*�3$� ;)*81)
 ��	�?9� $$�4/0�p:)����-���
H�<1=:_�)
�($$�/���S++��= /H�76*
���(�2�7��=��;61��
��1)1� <1=1)	��(2*��/��-$�61$)�1"$)<)�+3���1�� (��2!�'>, 2544) 
+$)	1*$�������%&�'�-$�$��
���h (2543) ��
#������9�<�����+�#���1)	��()��:16�2 !��3��"#$
��/
#<!/�>+�#��3���3$�����$��)�� 1  	"$ HCTZ  	�)�����*$�1= 17.4 -$��"#$��/�
�6() 
   �1,3(2��$�3��+3��76T3;(3(
��=+����h>6�1*(7��=�= 1 �W /
#83��(� (�*$�1= 68.30) 
��"#$����+3��76T3����89*+9�$��,2$�2*� (60 P 69 �W) (��/
#+,) (�*$�1=42.50)   _&#�89*+9�$��,7��1,3(�


�������/
#���<-L�<��+�(��?�3���61"$2���$�7����/H�������(23��l;)* ��"#$����(
�����1
#��<�1�
/��)*���3�����;(3(����� (	h�����>+?����!�=��(������, 2541) /H�76*	��(�+
#��/
#�=6�1*(
(
�*$���3�89*+9�$��,/
#$�937����89*+9�$��,2$��1�� 	"$ 80 �W-&
�;� +$)	1*$�������%&�'�-$� �9 <1=
	h= (Chu et al., 2005) ��
#�����$,��2����h><1=2��/H�������6�1*(7�89*+9�$��,����
� !��3�$��,
�����S����/
#+�(��?/H�������6�1*(;)*  
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#��.��7� 3 $��)��<��/
#$��/H�76*�1,3(2��$�3�����)���6�1*((��/
#+,)7�
���%&�'�	��
��
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:�	
��=�H�2��$"#��$����.��=	��()��:16�2+9� (�*$�1= 65.40)   <1= ���(
$����6�*�(")��
��%
�'=
��1���1
#��/3� (�*$�1= 64.60) (2���� 2)   +�(��?$.�����81;)*)���
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#(
;-(���H����(��  /H�76*(
	��(
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$/H�76*���/��2��;(3(�#�	� ��3� 	��(;(3(�#�	�-$�-*$2=:!� -*$
�-3�<1=-*$�/*� ���/
#-*$2*$�����
H�6���/
#�!�#(-&
� /H�76*���)-*$�+"#$(<1=���$���+�-$�-*$ (
	��(
��)<1=(
-*$�H���)7�����	1"#$�;6� ���/H����-$��1*�(��"
$1)1� (���/��, 2548) �&�$3$��!1
�
<1=�6�"#$�1*�;)*�3�� �$�����

89*+9�$��,:�		��()��:16�2+9�+3��76T3�=(
�ST6���
#�����6��7�
/
#2*$�/H����6���-&
�/�
����:�		��()��:16�2+9�<1=	��(��� ��(/�
�+.�!�3�����/
#�+"#$(1�-$�
89*+9�$��,/H�76*�1,3(2��$�3���9*+&��3�2��$�$3$��!1
�6�"$�6�"#$�1*�;)*(����3�2$���������1��	� 
���(
�1*�(��"
$$3$�<��6�"$(
$�����6�"#$�1*����)-&
��&������S����/
#$��/H�76*���)���6�1*(/
#!�
(��/
#+,)7��1,3(2��$�3��/
#%&�'�	��
��

  
 �S�����+
#��.��7�/
#!�(������$��)�� 2 	"$ ���(
:�	��=�H�2��$"#��$����.��=	��()��
:16�2+9� :)�!��3��1,3(2��$�3��+3��76T3����:�	���6��� ��)-*$ <1=�ST6���
#�����+��2��3�(
)*�� _&#�:�	��"
$����613��

!�;)*�3$�7�89*+9�$��,�3�(���:�		��()��:16�2+9� <1=�����S��������H�
76*89*+9�$��,:�		��()��:16�2+9�(
.��=�+
#��23$���6�1*(�!�#(-&
�;)* (Baum et al., 2002; Chu et al., 
2005) +$)	1*$�������%&�'�-$�+,���h
 (2540) ��
#������S����/
#(
	��(+�(!��0>23$������)
$,��2��62,7��*��-$�89*+9�$��,7����6��)����,�
 %&�'�7�89*+9�$��,�H���� 320 ��� !��3��������:�	
��"
$��� ;)*<�3 :�		��()��:16�2+9� :�	���6��� �ST6���
#�����+��2� :�	2*$��=�� :�	2*$6�� 
:�	6��7� :�	;-(��7��1"$)+9� <1=:�	��("$���/*� �����S����/
#(
	��(+�(!��0>���������)
$,��2��62,7��*��-$�89*+9�$��, <1=������%&�'�-$����
��2�> <1= 	h= (2541) %&�'���
#�����
+.�!<�)1*$(7��*��/
#�+
#��23$������)$,��2��62,6�1*(7�89*+9�$��, :)�%&�'�7�89*+9�$��, 60 �W -&
�;� 
7��(�(89*+9�$��,�-2��,��/!(6��	� �H���� 417 	� !��3����(
:�	��=�H�2��(
	��(+�(!��0>���
���6�1*($�3��(
���+H�	�T/��+?�2� (p < .05)    
 $����6�*�(")��
��%
�'=��1���1
#��/3� �����S�����+
#��.��7�/
#!�(������$��)�� 3  
��"#$�����1,3(2��$�3��/,�	������=/����1)	��()��:16�2+9� (�*$�1= 100) _&#�!��3��1,3(��/
#
�����=/��(��/
#+,) 	"$ �1,3(-$���-���S++��= ��3� ��;^:)�	1$;�;0$=;_)> (hydrochlorothiazide: 
HCTZ) <1=��1�_�� (lasix) (�*$�1= 83.30) �$�1�(� 	"$ �������
����/H����-$�<$���:$�/�_�� 
(angiotensin inhibitor) ��3� ��<	�:/!��1 (captopril) <1= ��$
��1�!��1 (enalapril)  (�*$�1= 38.30) 
��/
#�1,3(2��$�3��;)*����=(
81-*���	
��23$���/��2�� /H�76*���)$����6�*�(") ����1( $3$��!1
� 
;(3(
<�� <1=���).��=	��()��2#H�7�-h=��1
#��/3�;)* (����!��0>, 2546; +(��2 <1=$�+�, 2542) 



+$)	1*$�������%&�'�-$��!LT%�
 <1= 	h= (2543) _&#�!��3�$����6�*�(")��������1
#��/3�����
+��62,-$����6�1*(;)*�*$�1= 15 /H�76*$,��2����h>-$����6�1*(�!�#(+9�-&
�?&��*$�1= 10 
(Couteur et al., 2003)   $�3��;��L2�($����6�*�(")��1���1
#��/3�7�89*+9�$��,:�		��()��:16�2+9�
�=-&
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�������7�6*$��
H�<1=6*$�+,-�89*+9�$��,
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���6�1*(/
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23$!42����(�5$�������6�1*( ;(3+�(��?�3�(/H����!42����(�5$�������6�1*(;)*  _&#�+�(��?
$.�����;)*)���

 

 
 ����	"��
����!����=�����������36�������7���	����-��
� 
 �������9*	��(+�(��?-$�2��$�23$����m���2�!42����(�5$�������6�1*((
	��(+�(!��0> 
/�����7��=)������1�����!42����(�5$�������6�1*(7�89*+9�$��,:�		��()��:16�2+9�
$�3��(
���+H�	�T/��+?�2� (r = .53, p < .01) <1=+�(��?�3�(/H����!42����(�5$�������6�1*(;)*
(��/
#+,) 	"$�*$�1= 28 (R2 Change = .28) ��"#$����2��<���������9*	��(+�(��?-$�2��$�����2��<�� 
/
#(
$�/0�!1:)�2��23$!42����(�5$����:�	2�(��$�<��	�)<��<8�	��(��"#$)*��+,-.�! 
(Rosenstock et al., 1988) �&�/H�76*����2��<��<��/
#+�(��?�-*�/H����!42����(�5$�������6�1*( 
<1=������%&�'�!��3��1,3(2��$�3��(
�������9*	��(+�(��?-$�2��$�$�937��=)��+9� ( Χ = 2.87, 
SD = .16)   _&#����/
#�1,3(2��$�3��(
�������9*/
#+9��=/H�76*(
!42����(�5$�������6�1*(;)*)
 �1,3(
2��$�3����"#$(�#��3�2��$�+�(��?�m���2�!42����(23��l;)*;(3���������;� ��3� ���(�2���2�(
��) ��"#$����+3��76T3<!/�>�=��) 2 �)"$�	��
� �1,3(2��$�3��	�)�3�;(3/H�76*�+
���1�(�� <1=/H�76*
;)*/����3�2��$�+�(��?	��	,(	��()��:16�2;)*6�"$;(3  _&#�81���%&�'�����;�2�(/4'm
���



����9*	��(+�(��?-$�<��)9�� (Bandura, 1977) /
#�13���3��������9*	��(+�(��?-$�2��$�(

$�/0�!123$�����=/H�-$��,		1/��+,-.�! �,		1/
#(
	��(�9*+&��&�	�)<1=��"#$(�#��3�2��$�(
	��( 
+�(��?7�����m���2�������(��
�;)*(���=+�(��?�m���2�!42����(�5$����:�	;)*(�� _&#����%&�'� 
	��
��

+$)	1*$������������/
#83��(� ��3� ���%&�'�-$����h�1
 (2544) %&�'�	��(+�(!��0>�=6�3�� 
�������9*+(��?�=-$�2��$����!42����(���)9<12��$�-$�89*+9�$��,���;/�(,+1�(7�
��,��/!(6��	� !��3��������9*+(��?�=-$�2��$� ����2��<��/
#(
$�/0�!1(��/
#+,) :)�+�(��?
/H����!42����(���)9<12��$�-$�89*+9�$��,;)*�*$�1= 68.80 ��3��)
��������%&�'�-$���;1.�h> 
(2545) ��
#������������9*+(��?�=-$�2��$����!42����(���)9<12��$�-$�89*�A��:�		��()��:16�2
+9� 7��1,3(89*�A��:�		��()��:16�2+9�/
#;(3/���+��62,/
#<8��89*�A���$�<1=	1����:�		��()��
:16�2+9� !��3��������9*+(��?�=-$�2��$�(
	��(+�(!��0>/��������!42����(���)9<12��$�-$�
89*�A��:�		��()��:16�2+9� (r = .54, p < .01) <1=+�(��?�3�(/H����!42����(���)9<12��$�-$�
89*�A��:�		��()��:16�2+9�;)*�*$�1= 31.4 <1=+$)	1*$�������%&�'�-$�����!LT (2543) /
#!��3�
�������9*	��(+�(��?7�2��$�����2��/H����!42����(+3��+��(+,-.�!;)*+9�+,) <1=�������9*	��( 
+�(��?-$�2��$�+�(��?/H��������m���2�)*��+,-.�!-$�6T������1��	�/
#����:�		��()��
:16�2+9�;)* ($�!��/>, 2542) �$�����

���!��3��������9*	��(+�(��?-$�2��$�(
	��(+�(!��0>���
!42����(+,-.�!<1=����2��<��/
#+�(��?/H��������m���2�!42����( )*��+,-.�!;)*)
<1=(
$�/0�!1 
(��/
#+,)7��1,3(89*�A��:�	��"
$���$"#�l ��3� 89*�A����h:�	 (6/����2�>, 2542) 89*�A��:�	;2�����"
$��� 
($,�1, 2542; �����2�>, 2543)   ����2*�     
 
 ����	"��
���5
1�9�������<�"	��36�������7���	����-��
� 
 �������9*��=:���>(
	��(+�(!��0>/�����7��=)������1�����!42����(�5$���� ���6�
1*($�3��(
���+H�	�T/��+?�2� (r = .31, p < .01) <1=����2��/H����!42����(�5$�������6�1*(7�
$��)���$�1�(� <+)�76*�6L��3�89*+9�$��,:�		��()��:16�2+9�/
#(
�������9*��=:���>7�����m���2�
!42����(�5$�������6�1*(7��=)��+9�(
<��:�*(/
#�=�m���2�!42����(�5$�������6�1*(7��=)�� 
+9�)*�� :)������S�����+��(76*(
!42����(�5$�������6�1*(�!�#(-&
��!
���*$�1= 2 ��"#$���� 2��<����� 
����9*��=:���>-$�!42����(�5$�������6�1*(����2��<��/
#(
	��(+�(!��0>:)�2��23$!42����(�5$� 
������6�1*( ��3��)
�����2��<���������9*	��(+�(��?-$�2��$�/H�76*(
$�/0�!123$!42����( 
�5$�������6�1*( _&#��������9*��=:���>-$�!42����(�5$�������6�1*(/H�76*89*+9�$��,(
	��(��"#$7�
��=+�/0�.�!-$�����m���2�!42����(�5$����2��$�������6�1*( ��"#$��������!42����(/
#�,		1 
����9*�3�2��$�+�(��?/H�;)*<1=���)81)
7�����5$�������6�1*(/
#�=���)-&
�����+�#�/
#�=�3��1)



.��=	,�	�(-$�������)���6�1*( +�#�+H�	�T��=���6�&#�/
#(
8123$�,		1/H�76*���)	��(�3�(("$7�
������'�:)��m���2�2�(	H�<�=�H�23��l$�3���	�3�	��)<1=23$��"#$�  +$)	1*$������������(
��������-$�<��_> <1= ��	�	$�> (Janz & Becker, 1984 cited by Rosenstock, 1990) /
#!��3��������9*
��=:���>+�(��?$0����	��(+�(!��0>���!42����(����5$����:�	;)* <1=(
$�/0�!17����
/H��������m���2�!42����(����5$����:�	;)*)
 81���%&�'�	��
��

+$)	1*$������������/
#%&�'�
7���"#$�/
#	1*��	1&����-$�����!LT (2543) ��
#������S����/
#(
$�/0�!123$!42����(+3��+��(+,-.�!
7��1,3($��,/
#�+
#��23$.��=	��()��:16�2+9�7����6��)�1�,�
 /
#(
$��,�=6�3�� 35-55 �W �H���� 373 	�  
!��3��������9*��=:���>+�(��?�3�(/H����!42����(+3��+��(+,-.�!7��1,3($��,/
#�+
#��23$.��=
	��()��:16�2+9�;)*�*$�1= 11.4 $�3��(
���+H�	�T/��+?�2� (p < .05) ��3��)
��������%&�'�-$�
$����-� (2548) ��"#$��S����/
#(
8123$!42����(+3��+��(+,-.�!89*�A��:�		��()��:16�2+9� !��3�
�������9*��=:���>-$�����m���2�!42����(+3��+��(+,-.�!+�(��?/H����!42����(+3��+��(+,-.�! 
-$�89*�A��:�		��()��:16�2+9�;)*�*$�1= 21.3 $�3��(
���+H�	�T/��+?�2� (p < .001)    
  +3���������9*$,�+��	7�����m���2�!42����(�5$�������6�1*(?&�<(*�=(
	��(+�(!��0>
7��=)������1�����!42����(�5$�������6�1*( (r = -. 33, p < 0.01) <23;(3+�(��?�3�(/H����
!42����(�5$�������6�1*(;)* ��"#$�����("#$2��<���������9*	��(+�(��?-$�2��$� <1=�������9*
��=:���>�-*��3�(+(���/H����<1*� $��/H�76*:$��+/
#�������9*$,�+��	�-*�7�+(���/H����;)*�*$�  
�!��=�������9*	��(+�(��?-$�2��$� <1=�������9*��=:���>(
$�/0�!1:)�2��23$�������9*$,�+��	 
-$�����m���2�!42����( ?*��,		1����9*	��(+�(��?-$�2��$�<1=�������9*��=:���>��#�+9��=
��#�����9*$,�+��	-$�����m���2�!42����(2#H� (��11�, 2543) <1=�������9*$,�+��	(
	��(+�(!��0>
����������9*	��(+�(��?-$�2��$�7��=)��/
#+9���3��������9*��=:���> �("#$�������9*	��(+�(��?
-$�2��$�?9�)&��-*�+(���/H����<1*�:$��+/
#�������9*$,�+��	�=?9�)&��-*�;�$0�����!�#(�2�(�&�
�*$�1� 
  2��<���������9*:$��+�+
#��23$���6�1*(   <1=�������9*	��(�,�<��-$����6�1*( ;(3+�(��?
�3�(/H����!42����(�5$�������6�1*(;)* ��"#$����2��<��/�
� 2 2�� (
�S����������1
#��$"#��-*�(�
</��<_�6�"$�-*�(���=/� /H�76*����m���2�!42����(�5$�������6�1*(-&
�����S����$"#�)*�� ;)*<�3 
�S�����3�( (modifying factors) �����S����/
#��=/�23$	��(:$��$
��/
#�=�m���2�!42����(:)�(

$�/0�!123$�������9*-$��,		1 ;)*<�3  �S����)*��1��'h=��=����  ��3� $��, �!% ��"
$��2�   �S����)*��
��2+��	( ��3� �,	1��.�! �=)����
�7�+��	( �S����)*��:	��+�*�� ��3� 	��(�9*6�"$��=+����h> 
��
#�����:�	��
�  <1=�S������=2,*�����m���2� (cues to action) �����S����/
#��=2,*�76*(
����m���2�/
#
�6(�=+(���)-&
� �S�����613��

$�������S����.��7��$� ��3� �������9*+.�!-$�2��$� 6�"$�S����



.���$�2���,		1 ��3� -*$(91���+"#$6�"$�,		123��l 	��(��L��A��-$��,		17�1*��) ����2*� 
(Rosenstock et al., 1988) _&#�������%&�'�	��
��

!��3��������9*:$��+�+
#��23$���6�1*(   �������9*
	��(�,�<��-$����6�1*((
	��(+�(!��0>���!42����(�5$�������6�1*(7��=)��2#H� �&�;(3+�(��? 
/H����!42����(�5$�������6�1*(7����%&�'�	��
��

;)*   +$)	1*$�������%&�'�-$�+,��2�� (2549) 
��
#������S����/
#(
$�/0�!123$!42����(����5$����:�	6��7�<1=61$)�1"$)-$�+2�
;/�(,+1�(���
6()��=�H��)"$� !��3��������9*:$��+�+
#��23$������):�	 �������9*	��(�,�<��-$�������):�	;(3
+�(��?/H����!42����(����5$����:�	6��7�<1=61$)�1"$)-$�+2�
;/�(,+1�(���6()��=�H� 
�)"$�;)*  <1=+$)	1*$����<��_> <1= ��	��$�> (Janz & Becker, 1984  cited by Rosenstock, 1990)   
/
#�13���3��������9*	��(�,�<������2��<��/
#(
$H�������/H�����*$�/
#+,)7�<��<8�	��(��"#$)*��
+,-.�!<1=�����������/
#83��(�;(3!���������7)/
#�������9*	��(�,�<��+�(��?/H����!42����(
)*��+,-.�!;)*     
  ������%&�'�!��3��S����)*���������9*	��(+�(��?-$�2��$� ����������9*��=:���>7�
����m���2�!42����(�5$�������6�1*(+�(��?�3�(/H����	��(<������-$�!42����(�5$�������
6�1*(7�89*+9�$��,:�		��()��:16�2+9�;)*�*$�1= 30 _&#��������9*	��(+�(��?-$�2��$�����2��
/H����/
#)
/
#+,) 	"$+�(��?/H����!42����(�5$�������6�1*(;)*�*$�1= 28 ����;�2�(��$���������   
+3��/
#�61"$$
��*$�1= 70  ���;(3+�(��?$0����;)*������%&�'�	��
��

 _&#������S����$"#�l/
#(
$�/0�!1
23$!42����(�5$�������6�1*(7�89*+9�$��,:�		��()��:16�2+9�/
#89*��������;(3;)*�1"$�(�%&�'� 
  $�3��;��L2�(89*�����;)*/H����/)+$��!"#$6�	��(+�(!��0>-$�2��<��$"#�l7�<��<8�	��( 
��"#$)*��+,-.�!���2��/
#;(3;)*�1"$�(�%&�'�7�	��
��

 ;)*<�3 �!% $��, ���%&�'� ���;)* <1=
��=+����h>���6�1*(7��$� 1 �W !��3�2��<��23��l�613��

;(3(
	��(+�(!��0>���!42����(
�5$�������6�1*(7�89*+9�$��,:�		��()��:16�2+9��1,3(�

 (.�	8��� � 2���� �2) �&�;(3+�(��?
/H����!42����(�5$�������6�1*(;)* +3��2��<��$"#�l /
#���;(3;)*%&�'� ;)*<�3 <���9�7�7����
�m���2�   �S������=2,*�����m���2�   <1=<��+���+�,�/��)*��+��	(   ����2*� 

 

 

 

 

 

 



 


